BARARDOBRTERT —IN—ZBISH—F 2021118308 (N 1901&&E1H
(W Bo=150 A5 HSZ—E B
[x8%] 1&:570,000 @  237#&:182,000 @  337#&:103,000 ™  437%&:68,000H ./ 53&:46,000 ™
B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
© 43y~ I eSS : -1-1- - REEX (BHE)
118110/ BAR1YTUR # 4 | Pl 1.(2_9).6 1-1-1-1 | 38.9 1 (4:334; e
RiR—ANE B:F7-0 Wk =7
, 5 | ALE— 1:31.1 4-3-3-4 (39.2| — | 3 | 482 |MTFEA (&EHE)
2|l 9| AX—PU=TIb Rk ) e | ) Tr—2NEvay
R:T—VRPUI—L BiR—AFAETY BT 7 — L
~ I v 7 | s : - FHER (SEE
317| 8| ZAVARIIVE—= B2 75 1(931:)2 R ke : (4_732) Fee B
JUF—Y 8BTSy Ya1v4ATFRATAZ— EE=e
~,3 XLEFRSER 2 -7-7- - HFLHE— (REBE)
4 6 I E I P h 8 4 2 1(.13/12.)3 6-7-7-7 | 39.0 4 (4326) e
RiFVYYY/FEF BAN—LYARI— BRRUS
\ 4 | RAHFAAER 1:31.3 8-8-6-5 [39.0| — 9 163 | EHES (BELE)
5011 *EU—=VYDIL # 5.0 F9) o | & Y¥¥yo57
JUF—Y BAEU—FvvS pelgie]
2 . 44 | PPl 1:31.3 2-2-2-2 |39.6| — 5 | 47 |UTX (BEE)
6/515 ‘9’]’7] Ovo 56.0 &) (3 | BLEE
ISYFPURR B:UPLTFyvaY IYYT7—L
== » =TEE :31. -11-11- . - BIB—A (BEE)
FF o R—o # 5 | ETE 1(/3;)3 11-11-11-9 | 38.0 7 (4:’)33) e
R:RU—LYvy—=— B:LTFaYvVITUS INTT7—1
—p— A_LE 3L 2 -6-8- - BUIE—AN (BEE)
L—9FSvEX 5 | Hb 1(731&;1 5-6-8-8 | 39.1 6 (4_1:) LR
RiFVyvH/FEF B:Ea—T4J0OVR S Ws
_ MEE= : -10-9- - ti=— (2ER)
=AHIrAT w7 | e 1.(332).1 10-10-9-10 | 39.2 10 (4_525) e
R:AVFaq4v b B:hH7 EvILyRT7—L
o s KBS 2 ~4-5- - HiE— (BEE
RAIDTFATS o4 | RS 123 3-4-5-6 | 40.3 8 (4+612) %gﬁf (@R
RIIRTVFLY BUAZVITATS KRS v R
- Pe— : 910~ - HSWH (GBR
5y o4 | BT (;%{6#) 9-9-10-11 | 43.0 1 (4+12f; i ( )
RiFVY b‘/#t# B:AF/ PV ith B3k
@ 11— —&@BIE(I
13—3+— |10,5,4,9,7,6,8,1,3,11,2
23—73— [10,5,9,4,8,7,6,1,3,11,2
30—73— [10,5,9,8,4,1,6,7,11,3,2
43—F— 10,5,8,9,1,4,6,7,2,11,3
o I RE
B B 10 250 | | 94K 9-10 410 | | # = 7-8 270 | | 3E8 8-9-10 830/
5 B 10 120/ 8-10 2001 | | &5 &= 9-10 1,090M9 | | 3:&& 10-9-8 4,570/
9 150/ 8-9 200H| | & & 10-9 1,450
8 130M
ARBICOVTIRIUTERERRDBDZE, THEEEZETVL




